4) Y=z (-S)-re
D4 6e53 oo
o7k (x—'SBL
Dep = (%)






L) dX—x4+38=0
— (3><1'+ IDX”(@;O
-l(.'ﬁx- :.7_30('“}3-;Q

X=2f,~%






Quadratic Word Problems



Consecutive Integers

X, X+ B0 < b R
Consecutive odd integers
)() N+, X+9,X*6, ... -

consecutive even integers

><J><+Q/>ur%,>x+(o/,~ -



1)Find tssible three consecutive integers
such that the product of the first and the second is
equal to the product of -6 and the third.

X XH L X+ 2.
_3/..’

g () = -6 (x+3) Kt
~3 -9, -

X+ X =—bx- 1
X+ = O
(e D=0




2) The length of a rectangle is 3 inches more than its
width. If the length of the diagonal is 15 inches, find
the dimensions of the rectangle

W

& "

[=3+Ww

(GRTD

QL3 LM

ﬁ]{\ I [2in l

1 \F 2
Pythagorean Theorem: 0o -\-\) -
W (34w = 157
W+ qrwrw =225
S +bus- 21 =5
(W3 —108)=0

2 (uﬁll\(w-?\:Q
w=9



4) Suppose that one leg of a right triangle is 1 more
than the other leg; and the hypotenuse is 1 less than
2 times the shorter leg. Find the length of all the sides

gl | \&x = Yo+ (e ) = (ax-1)

I

X




6 A ar_pool in a water-purification plant requires a surface
et If the pool is situated in a room with

. py 28 ft and the distance from the pool edge to the
room waII is uniform, find the dimensions of the pool.

CE— (70,;@(;1% ’&%'—' 1240
25-}:';* ia;zx /x i |4 0 - 19ax-Sbox+ Lh()_: 4D

Dt Yy~ iy Ak - Al
o

- +490 = '510
st aoet | XA < 0

(x—4sXx- 4) = D \\E




7) The equation for an object’s height s at time t seconds after
launch is s(t) = -4.9t2 + 19.6t + 58.8, where s is in meters.

a) When does the oblect strike the ground?
O =—4.94 "+ (9.6t 58,
= _gq(4" =4t =13 )

b) At what time does the object reach its maximum helght'?

X-valve o+ uer—}e»c NE __L_ - (4

= N get
c) What is the maximum helght of the ob|ect'? 9'('0

S(2)=-49(3)+ 116 (4 sg 2
= 784 mebrs



12) The product of two consecutidd integersis 1 less

than four times their sum. Find the two integers.
>)<(+ . XD B
XQ’—J-QX =} X+B |

X=bx-1 =0
(5= x+t\=Q

ot
Sk

S)"‘_'.g_)(-l'l



